### ENVIRONMENTAL RESOLUTIONS, INC. BID SUMMARY REPORT

**BID OPENING: 8/13/24 AT 10:00 AM** 

# Reconstruction of Retreat Road, Phase III Southampton Township Burlington County 70566-02

				Engineer's Estimate		Contractor 1		Contractor 2		Contractor 3				
				Environmental Resolutions, Inc.		Asphalt Paving Systems, Inc.		Earle Co.		South State, Inc. General Contractors				
ENVIRONMENTAL RESOLUTIONS, INC. Engineers * Flanners * Scientists * Surveyors					815 East Gate Drive #103		PO Box 530		PO Box 556		202 Reeves Road - PO Box 68			
				Mount Laurel, NJ 08054 (856) 235-7170		Hammonton, NJ 08037		Farmingdale, NJ 07727		Bridgeton, NJ 08302				
NO	DESCRIPTION	QUANTITY	UNIT	UNIT PR.	AMOUNT	UNIT PR.	AMOUNT	UNIT PR.	AMOUNT	UNIT PR.	AMOUNT			
BASE BID				·		·								
1	Clearing Site	1.0	LS	\$50,000.00	\$50,000.00	\$36,181.50	\$36,181.50	\$34,248.63	\$34,248.63	\$18,669.00	\$18,669.00			
2	Construction Layout	1.0	LS	\$30,000.00	\$30,000.00	\$5,000.00	\$5,000.00	\$7,500.00	\$7,500.00	\$500.00	\$500.00			
3	Full Depth Reclamation, 8" Depth	6,300.0	SY	\$40.00	\$252,000.00	\$16.75	\$105,525.00	\$17.50	\$110,250.00	\$20.00	\$126,000.00			
4	Dry Cement for FDR	200.0	TON	\$300.00	\$60,000.00	\$130.00	\$26,000.00	\$250.00	\$50,000.00	\$200.00	\$40,000.00			
5	HMA 9.5M64 Surface Course, 3" Thick	1,100.0	TON	\$110.00	\$121,000.00	\$100.00	\$110,000.00	\$105.00	\$115,500.00	\$190.00	\$209,000.00			
6	Polymerized Joint Adhesive	650.0	LF	\$2.00	\$1,300.00	\$0.01	\$6.50	\$0.01	\$6.50	\$0.02	\$13.00			
7	Hot Mix Asphalt Driveway, 4" Thick	240.0	SY	\$62.00	\$14,880.00	\$75.00	\$18,000.00	\$75.00	\$18,000.00	\$15.00	\$3,600.00			
8	Nonvegetative Surface, Porous Hot Mix Asphalt, 4" Thick	140.0	SY	\$52.00	\$7,280.00	\$58.00	\$8,120.00	\$60.00	\$8,400.00	\$40.00	\$5,600.00			
9	Turf Repair Strip	2,900.0	SY	\$0.50	\$1,450.00	\$0.50	\$1,450.00	\$0.01	\$29.00	\$4.00	\$11,600.00			
10	Tangent Guide Rail Terminal	2.0	UN	\$4,200.00	\$8,400.00	\$3,850.00	\$7,700.00	\$4,000.00	\$8,000.00	\$4,000.00	\$8,000.00			
11	Beam Guide Rail	100.0	LF	\$50.00	\$5,000.00	\$44.00	\$4,400.00	\$45.00	\$4,500.00	\$30.00	\$3,000.00			
12	Traffic Stripes, Long-Life Epoxy Resin, 4"	600.0	LF	\$0.60	\$360.00	\$4.40	\$2,640.00	\$2.25	\$1,350.00	\$8.85	\$5,310.00			
13	Traffic Stripes, Thermoplastic, 24"	50.0	LF	\$5.00	\$250.00	\$4.50	\$225.00	\$14.50	\$725.00	\$4.00	\$200.00			
14	RPM, Bi-Directional, Amber Lens	40.0	UN	\$35.00	\$1,400.00	\$45.00	\$1,800.00	\$50.00	\$2,000.00	\$30.00	\$1,200.00			
15	Regulatory and Warning Sign	13.0	UN	\$250.00	\$3,250.00	\$300.00	\$3,900.00	\$250.00	\$3,250.00	\$200.00	\$2,600.00			
16	Portable Variable Message Sign	3.0	UN	\$3,125.00	\$9,375.00	\$1,000.00	\$3,000.00	\$500.00	\$1,500.00	\$500.00	\$1,500.00			
17	Construction Signs	300.0	SF	\$32.00	\$9,600.00	\$24.00	\$7,200.00	\$0.01	\$3.00	\$0.02	\$6.00			
18	Silt Fence	5,100.0	LF	\$4.00	\$20,400.00	\$0.50	\$2,550.00	\$0.01	\$51.00	\$0.02	\$102.00			
19	Fuel Price Adjustment	1,600.0	DOL	\$1.00	\$1,600.00	\$1.00	\$1,600.00	\$1.00	\$1,600.00	\$1.00	\$1,600.00			
20	Asphalt Price Adjustment	1,500.0	DOL	\$1.00	\$1,500.00	\$1.00	\$1,500.00	\$1.00	\$1,500.00	\$1.00	\$1,500.00			
		TOTAL I	BASE BID:	\$599,0	45.00	\$346,798.00		\$368,413.13		\$440,000.00				
ALTERNATE BID #1														
A1.1	HMA Milling, 3" Or Less	1,435.0	SY	\$6.00	\$8,610.00	\$13.00	\$18,655.00	\$14.60	\$20,951.00	\$2.00	\$2,870.00			
A1.2	HMA 9.5M64 Surface Course, 2" Thick	176.0	TON	\$110.00	\$19,360.00	\$152.00	\$26,752.00	\$170.00	\$29,920.00	\$200.00	\$35,200.00			
A1.3	Traffic Stripes, Long-Life Epoxy Resin, 4"	1,000.0	LF	\$0.60	\$600.00	\$1.30	\$1,300.00	\$0.41	\$410.00	\$1.52	\$1,520.00			
A1.4	Traffic Stripes, Thermoplastic, 24"	12.0	LF	\$5.00	\$60.00	\$4.50	\$54.00	\$7.00	\$84.00	\$6.25	\$75.00			
A1.5	Turf Repair Strip	335.0	SY	\$0.50	\$167.50	\$1.00	\$335.00	\$1.00	\$335.00	\$1.00	\$335.00			
	T	OTAL ALTERA	ATE BID 1:	\$28,79	97.50	\$47,09	6.00	\$51,7	00.00	\$40,0	00.00			
TOTAL BASE BID + ALTERATE BID 1:			\$627,842.50		\$393,8	\$393,894.00		\$420,113.13		\$480,000.00				

#### ENVIRONMENTAL RESOLUTIONS, INC. BID SUMMARY REPORT

**BID OPENING: 8/13/24 AT 10:00 AM** 

# Reconstruction of Retreat Road, Phase III Southampton Township Burlington County 70566-02

				Engineer's Estimate		Contractor 1		Contractor 2		Contractor 3		
ENVIRONMENTAL RESOLUTIONS, INC. Engineers · Planners · Scientists · Surveyors					esolutions, Inc.	Asphalt Paving Systems, Inc.		Earle Co.		South State, Inc. General Contractors		
					815 East Gate Drive #103		PO Box 530		PO Box 556		202 Reeves Road - PO Box 68	
				Mount Laurel, NJ 08054		Hammonton, NJ 08037		Farmingdale, NJ 07727		Bridgeton, NJ 08302		
				(856) 235-7170		,		,		_		
NO	DESCRIPTION	QUANTITY	UNIT	UNIT PR.	AMOUNT	UNIT PR.	AMOUNT	UNIT PR.	AMOUNT	UNIT PR.	AMOUNT	
BASE BID												
ALTERNATE BID #2												
A2.1	HMA Milling, 3" Or Less	1,765.0	SY	\$6.00	\$10,590.00	\$13.00	\$22,945.00	\$12.40	\$21,886.00	\$3.00	\$5,295.00	
A2.2	HMA 9.5M64 Surface Course, 2" Thick	215.0	TON	\$110.00	\$23,650.00	\$125.00	\$26,875.00	\$168.00	\$36,120.00	\$205.58	\$44,199.70	
A2.3	Traffic Stripes, Long-Life Epoxy Resin, 4"	2,270.0	LF	\$0.60	\$1,362.00	\$0.80	\$1,816.00	\$0.40	\$908.00	\$0.89	\$2,020.30	
A2.4	Turf Repair Strip	485.0	SY	\$0.60	\$291.00	\$1.00	\$485.00	\$1.00	\$485.00	\$1.00	\$485.00	
	TOTAL ALTERATE BID 2:				\$35,893.00		\$52,121.00		\$59,399.00		\$52,000.00	
TOTAL BASE BID + ALTERATE BID 1+ ALTERATE BID 2:				\$663,735.50		\$446,015.00		\$479,512.13		\$532,000.00		

=Mathematically Corrected Value

Rakesh R. Darji, PE #24GE04289100

(Name of Designer)

(Signature)

Project Engineer (Title)

8/22/2024

(Date)

### ENVIRONMENTAL RESOLUTIONS, INC. BID SUMMARY REPORT

BID OPENING: 8/13/24 AT 10:00 AM

# Reconstruction of Retreat Road, Phase III Southampton Township Burlington County 70566-02

				Contractor 4		Contractor 5		Contractor 6		Contractor 7				
					Arawak Paving Co., Inc.		Construct Connect							
ENVIRONMENTAL RESOLUTIONS, INC. Engineers * Planners * Scientists * Surveyors					7503 Weymouth Road		3825 Edwards Road, Suite 700							
				Hammonto	n, NJ 08037	Cincinnati, OH 45209								
NO	DESCRIPTION	QUANTITY	UNIT	UNIT PR.	AMOUNT	UNIT PR.	AMOUNT	UNIT PR.	AMOUNT	UNIT PR.	AMOUNT			
BASE BID			•		•		•							
1	Clearing Site	1.0	LS											
2	Construction Layout	1.0	LS											
3	Full Depth Reclamation, 8" Depth	6,300.0	SY											
4	Dry Cement for FDR	200.0	TON											
5	HMA 9.5M64 Surface Course, 3" Thick	1,100.0	TON											
6	Polymerized Joint Adhesive	650.0	LF											
7	Hot Mix Asphalt Driveway, 4" Thick	240.0	SY											
8	Nonvegetative Surface, Porous Hot Mix Asphalt, 4" Thick	140.0	SY											
9	Turf Repair Strip	2,900.0	SY											
10	Tangent Guide Rail Terminal	2.0	UN											
11	Beam Guide Rail	100.0	LF											
12	Traffic Stripes, Long-Life Epoxy Resin, 4"	600.0	LF											
13	Traffic Stripes, Thermoplastic, 24"	50.0	LF											
14	RPM, Bi-Directional, Amber Lens	40.0	UN											
15	Regulatory and Warning Sign	13.0	UN											
16	Portable Variable Message Sign	3.0	UN											
17	Construction Signs	300.0	SF											
18	Silt Fence	5,100.0	LF											
19	Fuel Price Adjustment	1,600.0	DOL											
20	Asphalt Price Adjustment	1,500.0	DOL											
		TOTAL E	BASE BID:	NO BID RECEIVED		NO BID RECEIVED								
ALTER	NATE BID #1				_				_					
A1.1	HMA Milling, 3" Or Less	1,435.0												
A1.2	HMA 9.5M64 Surface Course, 2" Thick		TON											
A1.3	Traffic Stripes, Long-Life Epoxy Resin, 4"	1,000.0												
	Traffic Stripes, Thermoplastic, 24"	12.0												
A1.5	Turf Repair Strip	335.0												
	TOTAL ALTERATE BID 1:				NO BID RECEIVED		NO BID RECEIVED							
	TOTAL BASE BID + ALTERATE BID 1:				RECEIVED	NO BID I	RECEIVED							

#### ENVIRONMENTAL RESOLUTIONS, INC. BID SUMMARY REPORT

BID OPENING: 8/13/24 AT 10:00 AM

# Reconstruction of Retreat Road, Phase III Southampton Township Burlington County 70566-02

ENVIRONMENTAL RESOLUTIONS, INC. Engineers * Planners * Scientists * Surveyors				Contractor 4  Arawak Paving Co., Inc.  7503 Weymouth Road		Contractor 5  Construct Connect  3825 Edwards Road, Suite 700		Contractor 6		Contractor 7	
			Hammonton, NJ 08037		Cincinnati, OH 45209						
NO DESCRIPTION QUANTITY UNIT				UNIT PR.	AMOUNT	UNIT PR.	AMOUNT	UNIT PR.	AMOUNT	UNIT PR.	AMOUNT
BASE BID											
ALTERNATE BID #2											
A2.1	HMA Milling, 3" Or Less	1,765.0	SY								
A2.2	HMA 9.5M64 Surface Course, 2" Thick	215.0	TON								
A2.3	Traffic Stripes, Long-Life Epoxy Resin, 4"	2,270.0	LF								
A2.4	Turf Repair Strip	485.0	SY								
TOTAL ALTERATE BID 2:				NO BID RECEIVED		NO BID RECEIVED					
TOTAL BASE BID + ALTERATE BID 1+ ALTERATE BID 2:				NO BID RECEIVED		NO BID RECEIVED					

=Mathematically Corrected Value

Rakesh R. Darji, PE #24GE04289100

(Name of Designer) (Signature)

Project Engineer 8/22/2024
(Title) (Date)